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Click each Button for Setting of Sound Source, Recieving Point and BarrierEdee point!

To delete the settines, click the Right Button on each point
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Coordinate of the sound source:

H=-02 = 1 4(md

Coordinate of the edege of barrier:

W= 2, Y= 21 m)

Coordinate of the receiving paint:

H= 7, = 1.3(m)

Distance fram the sound source to the edee of

11734 (m}

\Distance fram the edae of barrier to the receivi
3

Total Distance from the sound source 1o

the receiving point via the edge of barrier:

16,737 (m}

Direct distance from the sound source to the re

16.423(m

k50 dB

=20m -10m Om

Satting for Sound
Source

Satting for Edge
Point of Barrier

10m

Satting of

Receiving Foint

0 Difference between path length and two direct
M 342

Anele from the sound source point to the edee
35 Dearee

Anele fram the sdge of barrisr to the receiving

Calculation of

Start /Reset Transfer Function

Impulse Response
to File out—put

GroundReflect - Sampling L/R Select
" Without v 449 kHz {+ Eatrier/Direct
 ifith ™ 22.05kHz " Mono/Barrier

CVB work¥ETC WAN

sokdokkksok Property of sound source sighal ekl

Thiz sound source signal has leneth of 10840956 | fz= 44100 Hz 16 bits/sample and has 2 GChannels.
This source signal needs B3 times data processings

sk Property of impllse response kbR

This Impulse response has leneth of 131072 | 5= 48000 Hz and has 1 Channel(s).
Frequenct convert from 48000 to 44700 for data Length= 131075

rn= 480 mm= 441 Converted data length= 120834

Impulse Respohze has mazval order az power of 2=-5

& convolution proceszings are set for thiz source signal remain= 10185558

Max amplitude 02378311 |, WalTile created as c¥oorvolway with length of 178 sec

max_zignal==2 maxlmpulge=—5 Data Leneth= 776194 [ 29 MByles? fe= 44100 BitsPS= 16 Channel= 2

Max amp.= 07524 2618) 105 dB to Max_limit , WaW-tile created as c¥convol abswmay with leneth of 176 sec
Gain not for overflow = 0

Mow we are in C¥EVE wark

Ih play of convolution data

5 =th Fesdirg CY¥VE wirkEETC WAY F CEVE mark¥natmimp

maxval= 0348365 A943620E-012

5§ —th Comvolution result
macval= 02

Out Put Level
—3l]dEl| —24dEl| —1BdB| —12dEl| -6dB | out l]dEl| +6dB | +12dB| +18d8

StartiSet Sienal +
Imp.Resp)

Set Max
Processings

+24dB | 00:00.0

F Play-Out Way Fue‘ma""ggid °”'| Stop | Exit |

Play-Sienal Wiy




